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The sophomore class has decided to make money by running a concessions stand at basketball games.  To encourage students to volunteer to work the stand, they are offering rewards tickets that can be traded for snacks.  The sophomore class has decided they want to give students one ticket per hour, but they have to decide what to do if volunteers don’t work a whole number of hours.  They have come up with three possibilities:

	
	Round Up
	Round to Nearest
	Round Down

	For 1.2 hours
of work
	Reward for two hours

(two tickets)
	Reward for one hour

(one ticket)
	Reward for one hour

(one ticket)

	For 1.8 hours
of work
	Reward for two hours

(two tickets)
	Reward for two hours

(two tickets)
	Reward for one hour

(one ticket)


1.
You are given two examples of how each rounding strategy works.  Come up with more data and use it to graph each rounding strategy on the axes below.  Remember to think about using closed or open dots at the “jumps.”
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Round to Nearest
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Round Down
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2.
For what amounts of time worked will a volunteer earn four tickets if they use the…

a.
…rounding‑up strategy?


b.
…rounding‑to‑nearest strategy?


c.
…rounding‑down strategy?

3.
Rewrite your answers to #2 in interval notation.

a.


b.


c.

4.
Is the number of tickets awarded a function of the time worked?  Explain your answer.
5.
Do your graphs pass the vertical line test?
6.
Why do you think these types of functions are called step functions?
